yRI—A1

PRI 7)U BBk GEAED

No. x5 FiE Bk kA B TR MR % VOCH A4 VOCHEH! #:
i fEVOC | #VoC | {EvocC [ #voc | #ivoc | Evoc
(kg/ i) ) %) (g/ni) | (g/nd) | (g/mi) | (g/mi)
1 |ES RC AR RS K A Lk (A1 ST Ak 62 190
WEP2A) IEVOC | #EVOC |[TAZ7 VT TA~—4D 0.2 1 65 2 130
. . o | AR T FII—T 471500
TAT7INT T4 ESIRZEE .
TIVNT T4 VAV % LD 1 1.00 1.00 10 10
AT A LR R N—T 4271000
VAR A A 7 ARHELED 1o Looj 100 10 10
ARy F—7 471000
TR LAY 1 1.00 1.00 10 10
7 NRL—T 471500
T T LD 1 1.00 1.00 10 10
7 7)VNE D 1 1.00 1.00 10 10
JVNTIF Y 1 1.00 1.00 10 10
{ 2 —F 0 0 0 0 0 0 0
falia 7 ) —1 0 0 0 0 0 0 0
2 |HES RC AR RGBS A AT Lk (A-2)  [AC-PF] ki &8 52 180
wiEP2A) {EVOC | #VOC |TAZ7 NN T FA~—iY 0.2 1 65 2 130
7 - o | AR |7 =T 471500
TAT7IVNT — Tenvav . .
7T A% TN Vav T - LD 1 1.00 1.00 10 10
SATRIEAL: 5977 LK/ — o Ly FN—T 471000
YRANOIRATEA 3 1 1.00 1.00 10 10
1 1.00 1.00 10 10
1 1.00 1.00 10 10
1 1.00 1.00 10 10
0 0 0 0 0 0 0
0 0 0 0 0 0
FEE S RC R Eh K A L1k (A-3)  [AM-PF] 42 170
HEP2A) iEvoc | #voc T TA~— D 0.2 1 65 2 130
FAIPNT 7= |xenvavF 4”@@% 77NN T TR i 100 1.00 10 10
KA BEIAA: ST TR — R ARL sy F =T 4271000
IO 7 AT 7 LD o roeoj oo 10 10
MSETATNV =747 = MRS S §
. 77 V] Ty i .
[N e 7 A7 7 VNET Y 1 1.00 1.00 10 10
T AT 7)VET Y 1 1.00 1.00 10 10
Mgk H > —b 0 0 0 0 0 0 0
frifim 7V —p 0 0 0 0 0 0 0
4 |HES RC AR G B A AT TR U (AT-1) Rl &t 62 190
BEP2AY) BVOC | #@VOC |[TRATZ7 N T T4~ 4D 0.2 1 65 2 130
7 - e kil =T 471500
v — E EVES
TATINNT 4% eV FR 7 |72 LD 1 1.00 1.00 10 10
A LR R
et 1 1. 1. 1 1
VAR A A 00 00 0 0
ALy FN—742271000
7 AT 7 VNHELEEYD 1 1.00 1.00 10 10
T AT 7 =T 4271500
7 AT 7 VN HELEEYD 1 1.00 1.00 10 10
T A7 7 VT RD 1 1.00 1.00 10 10
T AT VMR RY 1 1.00 1.00 10 10
Livaauzs 0 0 0 0 0 0 0
017 41 Dl 0 0 0 0 0 0 0
fiatim ) —] 0 0 0 0 0 0 0
5 |#ES RC AR PR Bh A B AT T A L7 (A1-2)  [AC-PF] FEifif il 52 180
BEP2A) fEvoC | @vVOC |[7AT7 AT TA~—b 0.2 1 65 2 130
- . . HHEIA |7 A7 7 =T 471500
AT7INT - vavF
TATIMNT 74 < TV = 277 ALY 1 1.00 1.00 10 10
AT A LR R ARL -y F =T 471000
HAIOUL A 7277 LD YoLoo) too 10 10
N—7 471000
T A7 7 VR LY 1 1.00 1.00 10 10
T A7 7MY 1 1.00 1.00 10 10
T AT 7T D 1 1.00 1.00 10 10
(¥ auzs 0 0 0 0 0 0 0
g s — b 0 0 0 0 0 0 0
fitim ) —| 0 0 0 0 0 0 0
6 |#TES RC FEAR R AP K AT W B Lk (A1-3) [AM-PF] E21] Gk 42 170
BIEP2A1) EVOC | #VOC |FAZ7NMTTA~—4 0.2 1 65 2 130
7 - e A (ST AT 7 =T 47—
g — EVE
TATINNT 4% ER S R e 1 1.00 1.00 10 10
— ARy FI—T 1271000
7 AT 7ML 1 1.00 1.00 10 10
KSBETATIMM—T 40— MRS o
N 7 VNET Y . .
LR 7 A7 7 MNEIT Y 1 1.00 1.00 10 10
T AT 7)VMET Y 1 1.00 1.00 10 10
Z1 0 0 0 0 0 0 0
0 0 0 0 0 0 0
0 0 0 0 0 0 0
7 |EFES RC EEAR AP AR ARk L (B-1 et 64 192
HEP1B) fEvoc T AT NMTTA~— D 0.2 1 65 2 130
TATPMNT T4 %= RSO WhtbisbEN—7 427 -
ATV Ak — R T AT 7 MIN—T 4271500 ,
HAIDRETEA 7 A7 7 LY e I B 12 12
ARy F—T 4271000
T AT LAY 1 1.00 1.00 10 10
ARy F =T 471000
T T LAY 1 1.00 1.00 10 10
T AT 7 IVNIL—T 471500
TR LD 1 1.00 1.00 10 10
T A7 7 MR RY 1 1.00 1.00 10 10
e I NEGE V) 1 1.00 1.00 10 10
g —b 0 0 0 0 0 0 0
itz 7Y —h 0 0 0 0 0 0
8 |#HE RC AR KA f% Lk (B-2 S 54 182
HEP1B) fkvoc | #&vVoC |7 A7 AT IA~—i5h 0.2 1 2 130
o 'A("“ "
TAIIMNT 7= 2oy /ﬁ?&;f’m Wb —T 17 0 0 0 0 0 0 0
Vit T AT 7 =T 4271500 .
TR LD 1.2 1.00 1.00 12 12
ARy FN—T 471000
ST LAY 1 1.00 1.00 10 10
ARy F—T 4271000
TR LAY 1 1.00 1.00 10 10
TAZ 7 VNEIT Y 1 1.00 1.00 10 10
TAZ 7 VNEIT Y 1 1.00 1.00 10 10
0 0 0 0 0 0 0
0 0 0 0 0 0 0




yRI—A1

PRI 7)U BBk GEAED

No. X5 FHE Bk kR4 B TR FEH AN S VOCHA# VOCHEH ik
wmi | grvoc fivoc | svoc | #svoc
(kg/ i) (%) (g/ni) | (g/mi) (g/ni)
9 |#E AR P A Haix Tk (B-3)  [AM-PS] R} ik 32 160
wiEP1B) EVOC | #VOC |7 AT AT TA~—Y 0.2 1 65 2 130
r s, § AREA BT 277 b
TIVNTTA 2~ VavF
TAITMT TA Tehvav P et 0 0 0 0 0 0
HATHRIAH - S9N AR — ok ALy FN—T 1271000
BHIORA 7 A7 ALY o o) oo 10 10
MU TA7IV =740 = MRS 7 277 N RY
Fopatyiin T AT NETED 1 1.00 1.00 10 10
T AT 7 VT ERY 1 1.00 1.00 10 10
g —b 0 0 0 0 0 0
{gae= 7)—f 0 0 0 0 0 0
10 |#%/ AR (R G K R R T B T (BI-1) S ifi &t 64 192
BWIE(T1BILP1BD ttvoc | #voc [FA77 AT o4~—40 0.2 1 65 2 130
TATINT T4 = EEIEVEA m’gﬁﬁj WhtdbicloEN—T 407 0 0 0 0 0 0
SATHRIAFAN SRR TR/ — R T AT 7 MV—T 471500 , )
AR A A 7 A7 ALY b2 Loo) 1o 2 12
ARy F—7 4271000
T2 LD 1 1.00 1.00 10 10
ARy F =T 4271000
AT HELAED 1 1.00 1.00 10 10
T AT 7 IV —T 471500
T AT LD 1 1.00 1.00 10 10
T AT IR EF D 1 1.00 1.00 10 10
7 A7 7 AMNEHRY 1 1.00 1.00 10 10
[iF) 0 0 0 0 0 0
g —b 0 0 0 0 0 0
[ =D ey 0 0 0 0 0 0
1|3 FE AR ORGP K T B T (B1-2) R Gt 54 182
BIE(T1BLP1BI) fEVOC | #VOC |FAZ7NTFA~—iEY 0.2 1 65 2 130
PRI |zenvask ﬁ@f*ﬂ BhtihbEr—T 427 0 0 0 0 0 0
HATHRIAH - S9N AR — ok T AT 7 VM= 471500
AR AT 727 LD te] ooy roo 12 12
ARy F)L—7 4271000
T A7 7 VRNRLIED 1 1.00 1.00 10 10
AR v FI—7 4271000
T A7 7 VR LIEYD 1 1.00 1.00 10 10
FAZ7VNEFED 1 1.00 1.00 10 10
T AT ARETED 1 1.00 1.00 10 10
M #bp 0 0 0 0 0 0
g —b 0 0 0 0 0 0
[ =y 0 0 0 0 0 0
12 |#%E/ AR PR B K T AL Tk (BI-3)  [AM-PS] S i aEt 32 160
BE(T1BLP1B]) EVOC | ®VOC [TAZ7NTTA~—HY 0.2 1 65 2 130
E . § AT [ REAS I (BT T A7 7 Vb
TINTTA 2~ SV
TATFMNT T4 < B EVED % T — R 0 0 0 0 0 0
AT BRI 35V B iR ARy F —T 4271000
AR AR T AT ALY I roo) noo 10 10
MUETA — ey~ MR N
Xfﬁbgﬂf-ﬁl 74 MR T AT 7 ANETBRY 1 1.00 .00 10 10
T AT AT 1 1.00 .00 10 10
Wbt 0 0 0 0 0 0
g —b 0 0 0 0 0 0
(= 7Y —1 0 0 0 0 0 0
13 |2fE(M4C) Z FR AR PG K A Tk (C-1 Fifi it 53 200 243 390
fKvoc T AZ 7/ bR TR 1 1 20 10 10 200 200
/W%%i‘; I e ;;@’:/;:ﬁ%z%fﬁ 1000 1| 1.00 1.00 10 10 10 10
| AR Ay e—T7 4271000
=8 Ny "
[AmE TV T % |7aorkmiEy 1 1.00 1.00 10 10 10 10
T ATy V=T 4271500
T AT LD 1 1.00 1.00 10 10 10 10
WAF AR F L—T 47800
7 277 LD 1 1.00 1.00 10 10 10 10
{1 Lt 0.3 1 50 3 150 3 150
14 | (M4C) FTHBK AR B B K 4 Tk (C-2 FEif &t 43 190 233 380
fEVOC | #EVOC |7 277/ b Tl 1 1 20 10 10 200 200
77 ZF ezl | AL s T D
”7%;;;Tfm conyavg | TOLEA ;f;]/:;:?ti%;mooo 1| 1.00 1.00 10 10 10 10
L
L o T AT 7 IVNV—T 471500
<Nyavh g
et RSOV % AT R GELED 1 1.00 1.00 10 10 10 10
WA ARy F =7 47800
) 1 1.00 1.00 10 10 10 10
i bkt 0.3 1 50 3 150 3 150
15 |2kf&(M4C) FHBAK EAREE WP R E S Tk (C-3 S i Gt 43 190 233 380
fEVOC | #VOC |7 277/ b % T HgH& i 1 1 20 10 10 200 200
TAT7VNR T HiE oo | A (KT AT 7 A= T 4T — ]
ik zvVyavFk o 7 277 LN LIEY 1 1.00 1.00 10 10 10 10
o ARy F—7 471000
TN 2T AHELED 1 1.00 1.00 10 10 10 10
EAIEIR — R ARy F L—T 127800
o N T AT LD 1 1.00 1.00 10 10 10 10
MY TAT PV =740 = MR e -
AR vkt 0.3 1 50 3 150 3 150
16 |fE(M4C) TEHFK SRR B KB A Tk (C-4 b3 o3 33 180 223 370
{EvoC T A7 7 Vb Tk 1 1 20 10 10 200 200
TATPMNR T H g BHT AT 7 AN—T 47—
[ ES TV 7 2T IS ED 1 1.00 1.00 10 10 10 10
o WAL Y FNV—7 427800
Ny o
TN 72T LD 1 1.00 1.00 10 10 10 10
AR f Fakt 0.3 1 50 3 150 3 150
ST AT M =747 = M
Lo R kR
17 |#gE AR B AR T (D-1 S Gt 47 194 175 322
%45(POD,M3D) fEvoc TAT 7T TG~ — 8D 0.2 1 65 2 2 130 130
TATPMNT T4~ TIVYaF WitiislozN—71427 0 0 0 0 0 0
e o ARy F—T 4271000
i Viav . .
Rkt RS IV AT RGELED 1.2 1.00 1.00 12 12 12 12
SATREIAF : 59T 1/ — i ARy F =7 1271000
A A T AT 7 MRHLED I 10 10 10 10
T AT 7 IVMIL—T 471500
T A7 7V LIEY 1 1.00 1.00 10 10 10 10
WAF AR Y FL—7 47800
7 2T ALY 1 1.00 1.00 10 10 10 10
A 1o 0.3 1 50 3 150 3 150




yRI—A1

P2

7))L BEK GGEADD

No. = FiE Bk kR4 B TR bR [ERILRE o VoCcH VOCHEH ik
fifi {gvoc | Evoc | fEvoc | voc | ivoc | &voc
(kg/ mi) (%) %) (g/m) | (g/nm) | (g/m) (g/m)
18 |#g RC AR B R AR L (D=2 S &t 37 184 165 312
% {&(POD,M3D) fKvocC EVOC | TAT7 NN TG~ —1Y 0.2 1 65 2 2 130 130
TRIIMT A= |zenvark 4”%%‘*”7“ Wiz —T 427 0 0 0 0 0 0 0
. . A HRA | AR Y FL—T 471000
iy 3 EVE 9 9 9 9 9
Rk Ty F % P ELED L2l 1.00 1.00 12 12 12 12
AR AR J2 A R T AT 7 M —T 471500
AR A YA ) 1 1.00 1.00 10 10 10 10
N F L—7 427800
LiED 1 1.00 1.00 10 10 10 10
0.3 1 50 3 150 3 150
19 % RC AR B A % L1 (D-3 Fifii B 25 172 153 300
Z45(POD,M3D) IEVOC | &VOC |TATZ7 VT TA~—4Y 0.2 1 65 2 2 130 130
- . TR (O REAT ST A7 7 vk
TINNT G~ vavF .
TAT7IVET T4 < g VEA + S N 0 0 0 0 0 0 0
oLy ﬁ%‘ﬁﬁﬁ “\V’%” ”/71000 1| 1oo| 100 10 10 10 10
{ﬁfum/ R 1 1.00 1.00 10 10 10 10
KU TATIV M =740y =MIF I -
LA B 0.3 1 50 3 150 3 150
20 |#HES RC AR Bh AR Ty (D-4)  [AM-MS] R] &t 15 162 143 290
Z4E(POD,M3D) {EVOC | #VOC |TAZ7 T FA~—D 0.2 1 65 2 2 130 130
- . oo | AR oA RS T A7 7 Vb
TIT A= | ey !
TATINNT 4% Vv T st 0 0 0 0 0 0 0
o o | AR (AT AR Y F—T 17800
Bl av T
Rk e yasF % |raoe gLy 1 1.00 1.00 10 10 10 10
AT A : G977 10K/ — i e -
FEAIOIR AFA Bkt 0.3 1 50 3 150 3 150
M TATINV =740 = MIFIC
L2/ AL
21 |#HES RC JE R HBAAK  fbT B T3k (DI- 1) i &t 37 184 165 312
% {&(PODILM3DI) fkvoc TAZFNT T A~ —HED 0.2 1 65 2 2 130 130
- - s ﬁﬁ%%?{f'ﬁu FIL—T 4271500
ATIMT A= | zeh v }
TATINNT 4% N vavH R ! 1 1.00 1.00 10 10 10 10
Rk ESIOZVES /ﬁ%;fﬁu WiEAkS 7277 RS 1 1.00 1.00 10 10 10 10
AT A RS - .
o 9 Fh 25 e A+ Lhy —
AR AT MRS BT A7 7Ry —] 0 0 0 0 0 0 0
YT AT 7 M —T 42 72 —h
AT LD 1.2 1.00 1.00 12 12 12 12
e bt 0.3 1 50 3 150 3 150
22 |#ES RC JE AR HBh K A i T A Tk (DI-2) i &t 37 184 165 312
% {&(PODILM3DI) EVOC | EVOC | TATF NI TA~—h 0.2 1 65 2 2 130 130
7 oy ooz | FEEEH] |7 A7 7 VI —T 42771500
AT7IVET - I vavsFk ¥ 3 3
TATIMNT 74 < TNV = T 277 ALY 1 1.00 1.00 10 10 10 10
Rt ES A m&fﬁu WiEdt 7277 bR 1 1.00 1.00 10 10 10 10
AT A : G977 R /e S5 R AT A ST A7 7 Vb 0 0 0 0 0 0 0
RO AT N—T 7 — G
R FL—7 427800 . . p . .
T A7 7)Vh i LEY 1.2 1.00 1.00 12 12 12 12
e b E 0.3 1 50 3 150 3 150
23 |3 (M4DD) FEHIBK JE AR HBh K AR T A Tk (DI-1) i i 38 185 235 382
EvoC | @VOC |7 A7 b I ikt 1 0.3 20 3 3 200 200
oz | AR |7 A7 7 Vb —T7 4271500
ESTEPZ S P e 1 1.00 1.00 10 10 10 10
E(RZRES mﬁ/ﬁm WrEkE 727 7 AVNRAT i too 1.00 10 10 10 10
< GV LR e O REAT SR T AT 7 vk o 0 o 0 0 0 0
A OERA N—T 47— bR
T TR 12| 100|  1.00 12 12 12 12
0.3 1 50 3 150 3 150
24 |SfE(M4DI) TR | A PG AR AR AL T3k (DI-2)  [AM-MT] Rl &t 38 185 235 382
[EVOC | #EVOC |7 A7 7L hFR FHgHER 1 0.3 20 3 3 200 200
TAT7VER Tt vz | FEHEH |7 27 7 V=7 471500
o ES TP i e 1 1.00 1.00 10 10 10 10
ES(OZRES F%i@ﬁ“ Wk 7 27 7 VNRAT 1 1.00 1.00 10 10 10 10
AT A - RO REAT SR AT 7 vk 0 0 0 o 0 0 0
WHIORA N—T 4 7 —hiEAIT
Moy F A7 427800 12| 100|100 12 12 12 12
i LY
0.3 1 50 3 150 3 150
25  |SufE(M4D) FHBAK B AR R B KAk L [AM-MS] Rain] Gt 18 165 215 362
[EVOC | #VOC |7 A7 7V b5 T Higidshs 1 0.3 20 3 3 200 200
TAT7IVNR T e | AR [ PREAT A ST A7 7 vk
BT bt I S [y e 0 0 0 0 0 0 0
oo | AR [ AR > F —7 477800
ES TP 2 |7 roe LY 1.2 1.00 1.00 12 12 12 12
| il .
ARk B 0.3 1 50 3 150 3 150
26 |HES RC FENBEAKEE S Tk (E-1) P &t 62 190
BUB(P1E,P2E) {Evoc EHVOC |FAT 7 NTFGA~—HY 0.2 1 65 2 130
j AR 7IVV—7 4271500
TATTMNT G4 2= vavF
ATTMNT T4 el yayF P e 1 1.00 1.00 10 10
KA BEIAA: ST LR ARy FN—T 4271000
Rl A A 7 AT LD o roop roo 10 10
T AT 7 II—T 471500
AT LD 1 1.00 1.00 10 10
ARL =T 4271000
AT LD 1 1.00 1.00 10 10
T AT AEITED 1 1.00 1.00 10 10
T AT AETHED 1 1.00 1.00 10 10
21 |HES RC BENPIAKEAT Tk (B-2) P Fexis 42 170
BIE(P1E,P2E) fvoc TAT VT FA~— 5D 0.2 1 65 2 130
j . T AT 7 IMI—T 471500
TATTMNT 542 Ty .
ATTMNT T4 % Vv T T AT LD 1 1.00 1.00 10 10
AT A : G977 0K/ s ARLFI—7 4271000
IO A VA T AT T ALY Yo rooj too 10 10
T AT 7V T 1 1.00 1.00 10 10
T AT 7R 1 1.00 1.00 10 10




YRI—2 HEPRI7)UEY— K GHD

No. 5 FHhE Bk tEa A B TAR-HE4 e VOCH A VOCHEH! &
AR | &voc | mvoc | {&voc | fvoc | fvoc | Evoc
(kg/ i) (%) (%) (g/ni) (g/ni) (g/ni) (g/ni)
28 g RC |&ET7A77L by— Bk —FT i i 25 172 153 300
B K % - BB (AS-T1) TIA~—BY 0.2 1 65 2 2 130 130
WET A7 7 /Vh—hk
IEVOC | @®VOC |h—F3RY (JEFE G K R 1 1.00 1.00 10 10 10 10
f#,2.5mmlL F)
s e | BT AT 7R —h
Fogem [T R e (g R RAR 3 Omm 1 1.00 1.00 10 10 10 10
ES AR |y
Bkl l?/;/a‘/ iﬁf Rkl 0.3 1 50 3 150 3 150
SRR TR R — R
BHRIDIRE VA
29 |¥TES RC HET A7 7V h¥— bk h—FT i &t 15 162 143 290
WIEMAAS) | BHFHK | B - BEHBI AR (AS-T2) [AT-WF] |[FSq~—iky 0.2 1 65 2 2 130 130
W T AT 7V —h
IEVOC | BVOC |h—F 58V (& H ELE P57k FIRFE,4.0mm 1 1.00 1.00 10 10 10 10
Sb)
75— ”’,;/ e Eﬁ’;’g e Bkt 0.3 1 50 3 150 3 150
trkip [Th| AR
SRR TRV A — R
BHRIDIRE VA
30 |#ES RC HET A7 7V h¥— bk h—FT i &t 15 162 143 290
WIEM3AS) % - BB AR (AS-T3) TIA~—BY 0.2 1 65 2 2 130 130
(POAS) e TSR R A T A7 7 Vb — R
EVOC | EvVOC GEE BB A AR Smmbl ) 1 0.00 0.00 0 0 0 0
e o BT AT 7B~
2 i ﬁﬁ’gﬁ =350 (B RFAE,3.0mm 1| woof Loo 10 10 10 10
- 185
e E st m? = ﬁﬁ’gﬁ t Egk 0.3 1 50 3 150 3 150
AR BEAIER S — R
TERIO IR A TH
31 |#ES RC |&ET7A77/M by— Bk F—FT - &gt 15 162 143 290
BIEM3AS) % - TR (AS-T4) TIA~—BY 0.2 1 65 2 2 130 130
(POAS) IEVOC | #VOC | bl —h i 0.00 0.00 0 0 0 0
ey | T YH T AT 7V —h
7742 e <10 | =350 (8 HY 5B 57Kk FIRFE, 4.0mm 1 1.00 1.00 10 10 10 10
ES FIR L)
ks 17’;”’ E‘f’ﬁf sk 0.3 1 50 3 150 3 150
SR RETAR : BTAHI 1 — iR
BHRIOIRE VA
32 |¥ES RC WHET A7 7V kv— MEKE RS - &t 5 152 133 280
WIEM3AS) T - BB (AS-J1) TIv—1Y 0.2 1 65 2 2 130 130
(POAS) e | e |FB RSB SE T AT 7 VR — b
IEVOC | BVOC | (egth BAIRALL5mmd ) ! 0-00 0-00 0 0 0 0
| s [FEEBAGET A7 7 A —b
7547~ ”f:,,ja“ Eﬁf REAFIRY (T LGk FARFE,2.0mm 1| 000| 0.00 0 0 0 0
A R
Rk 17{:,{3“ Eﬂﬁ” f bkt 0.3 1 50 3 150 3 150
S BRTEA : THVEA F -Hh IR
AR & VEH
33 |#ES RC |HET AT 7/ —Rkh—F T B Rl &t 19.5 166.5 443 590
BWIEM3ASD WTEABS K ATk (ASI-T1) [AT-MT] TIA~—BY 0.2 1 65 2 2 130 130
(POASI) IEVOC [EVOC |t sEfF 15 0.3 20 4.5 4.5 300 300
e || IR SRR MNRET A7 b —h
7 %o | HF | GEEHEEIARRALL5mmE F) Lo 000 000 0 0 0 0
O e |BET AT 7 Vb —]
WFEAA R AT 17;/3’ Eﬁf —F3RY (8 BBk FIRFE,3.0mm 1 1.00 1.00 10 10 10 10
A s
S w3
ks 17{:,{ 7 ﬁﬁ%” gkt 0.3 1 50 3 150 3 150
KAERRIER: FEAIER — R
TEHIO R ATEH
34 |HES RC BT A7 7 VS — MK H A Tk Rl &t 9.5 156.5 433 580
BWIEM3ASD) TR KR (ASI-) 1) [AS-MT]  [F514~—%0 0.2 1 65 2 2 130 130
(POASI) {EVOC | #VOC |t {1 15 0.3 20 4.5 4.5 300 300
e |FOWA| B [OREBARET A7 by —h
7 # | AR |GEEHEEDE KRR L5mmS E) Lo 000 000 0 0 0 0
N e | BEAE B TR T AT 7 L —h
IFEAHE BRI 4T ”i{ e Eﬂ%ﬁ R IRY (BB /K FIRHE2.0mm 1| 000|000 0 0 0 0
A R
B S 3
temp |7 Eﬂg’g" t kit 0.3 1 50 3 150 3 150
SRRVAR: SHIEHI IR/ — R

EAIDR AT




YRI—2 HEPRI7)UEY— K GHD

No. =) ES0T] FEREEZA TR bk Y iR VOCHAFH VOCHEH!
A | KVOC | EVOC | #&VOC | #voC | HivoC | &VOoC
_ (kg/nf) (%) (%) (g/n) | (¢/n) | (¢/m) | (g/mi)
35 |48 (MAAS) | BHBIK | 7 A7 7 L kv — hEK b —F T D] &F 26 173 223 370
i - BB (AS-T1) T A7 7 VbR T Rk 1 0.3 20 3 3 200 200
WHET AT 7V —]
JEVOC | mVOC |h—T5R0 (FEFE HIE @RS K AR 1 1.00 1.00 10 10 10 10
f&,2.5mmLL )
. - . o BT AT 7]
TAT7 MR (mevvay| BRE | ey (o
o % e LE;%EV)(%Mﬁ@%m}mﬁ,s.mm 1 1.00 1.00 10 10 10 10
bk ”f;/a’ g‘?’w‘ t Lk 03 1 50 3 150 3 150
SRS TR 1 — 58
ERIDREGVEH]
36 |WIE(M4AS) | BHIBAK | BT X7 7L b — FPK b —F T D] (ox:18 16 163 213 360
5 - BB (AS-T2) T A7 7 VbR TR R 1 0.3 20 3 3 200 200
WET AT 7~
EVOC | @VOC |h—F 38D (5 H HIE 7K FRFE,4.0mm 1 1.00 1.00 10 10 10 10
LB
TAT7NNRT |zenvay| B s .
e = il e bk 0.3 1 50 3 150 3 150
P Ak
Ed Fl%
SR HRIE A A R —HR
EHIDORETE
37 |BUE(MAAS) | FBHIFAK | LE 7 A7 7 b b v — MK HE RS S aat 6 153 203 350
Tk - BRI (AS-J2) T A7 7 Vb T AR 1 0.3 20 3 3 200 200
A SET AT 7V —b
JEVOC | mVOC | #5753V (% H BLE RS /K FIRTE,3.0mm 1 0.00 0.00 0 0 0 0
LB
TATZ7 VAR T |zevvay| A - . |
R % % e gk 0.3 1 50 3 150 3 150
bR 1?/;/5‘/ iﬁ?fé{
SR RIS A T A E R —HR
EFNDIR G VA
38 |fE(M3AS) | BHIBAK | LB T A7 7 v b v — MBHAKE R i &t 5 152 133 280
Tik - BB KR (AS-)3) TIA~—Y 0.2 1 65 2 2 130 130
o | svoe (BB RS —k
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